N903s3U
N9033

N RNA
PLAYGROUNDS G)
designed for sustainable and creative play )

01-11-2023 / Rev.: C




2200
1300
275

N903s3U

7914 3033

955

1800

600 - 800
600 |

11044

(@]
PO
> ™~
(&> g
S %
0
O
o [@;
™
3
© Max 300
i@ Q (@
BN
O w@* o O
o
o
©
o

ofofind2] | Ji A

©10/12 x 300 cm 27kg

52,3 m? Nx6,2x22m ~317kg ~0,68m°

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

N\
This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.




N903s3U

N9033

N3102U

RS10038

N3210U N3103U

Parts List

QTY PART NO

N3102U

N3210U

T
1
1 N3103U
1
8

RS10038




2200
1300
275

7914

N903s3U

1800

1557

3073 —
1426 —
1401 —
1386 —
1316 —
1237 —
1168 —
980

955

3033

600 - 800

1401

2000
2336

2873

4927

5571

5996
6414

980

1170
1235
1288
1386
1402
1439
2959

1402

2013

2340

2873

4927

5555
5990
6414

7800

9487




P

N3102U

Parts List
QTY PART NO
1 N3210U
1 N3102U
1 N3103U
2 LE15901
1 LE15910
8 RS10038

N903s3U

N9033

RS10038

P

N3210U

LE15910

LE15901

h. +45 75 75 41 99
NORNA B o5 s
ricefiattet 1

PLAYGROUNDS v,

o
I ‘ Froduct o,

» Trataind

[
T
wi3

D

N3103U

KN




N3210U
N3210

AN §
i ) :
2 AR
o »
. SMART
www.fsc.org
‘ FSC* C105341
YSTEM

PLAYGRUUNDS ROBINIA

PR: DDDDDDDD
designed for sustainable and creative play Ry
31-10-2023 / Rev.: B




450‘

N3210U

N3210

2100 |

/Max kg/cm

2443

l|0|l

430 |

600

5443

5100

1
(1]

25,8 m? 5,4x5,1x0,45m ~79 kg ~0,15 m® ©10/12 x 210 cm

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

19kg

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3210U
N3210

S22532

D12158

L RS00675

Parts List

QTY PART NO DESCRIP.

1 §22532 Taifun

RS00675 @100/120

2 D12158 @100-120mm, Assembled




N3210U

N3210

450

8| L

|, 600

| N

1695

1570

2053
3748

1960 }

3530




N3210U

N3210

L1103

L1102
LE16599

L1101

L1101

D12158

S$22532

LE15910

LE16502

LE15901
LE13100
Parts List
QTY PART NO DESCRIP.

D12158 @100-120mm, Assembled
L1101 M16 sleeve nut
L1102 M16 Threaded rod
L1103 @37mm

LE13100 Shackle

LE15901 3x16, PH

LE15910 Name tag

LE16502 Spacer 6mm

LE16599 Sealtite 970 1,5ml

RS00675 @100/120

= hRIWOO| =N BA|ON

$22532 Taifun




N3103U
N3103 @
2500 )

N 0 R N A m |
S ol ®
- SMART
ROBINIA et
PRE-DRILLED FSC* C105341
PLAYGROUNDS )
responaible forestry
J

designed for sustainable and creative play
31-10-2023 / Rev.: B




N3103U

N3103

1630 3147
o
o
S
5 o)
o
°l 8 N
2T o =0) o 3 o=
RS =
o
S 3
[e0)
NI \\;#m
4651
e
<t
©

2 2h 21m? 4,7x6,1x2,2m ~94 kg ©10/12 x 300 cm 27 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



RS00708

N3103U

N3103

D12177
Parts List
QTY PART NO DESCRIP.

1 D12177 @100-120-2100mm
1 D12178 @10/12

1 RS00708 210/12

1 RS00709 @100-120-2100mm
1 RS00711 310/12

1 TV00015 Taifun

RS00709

TV00015

— D12178

"

RS00711



N3103U

N3103

o
o
N
N
o
o
S R
52 v o g) IIOII 8 (E
RS =
o
S g
(ce]
L \\\¥—#19
23 R
SLER o 3
1687
0
1386 }
2772 }

4459




N3103U

N3103

D12178

/

L1103 Bl

L1101

L1102 RS00709

//J

LE16599

RS00711

4 v

RS00708

LE15910

TV00015

RS00708 @10/12

RS00709 @100-120-2100mm

RS00711 @10/12

LE15901
TV00015
Parts List
QTY | PARTNO DESCRIP.

1 D12177 @100-120-2100mm
1 D12178 @10/12
8 L1101 M16 sleeve nut
4 L1102 M16 Threaded rod
4 L1103 @37mm —
2 |LE13100 Shackle
2 |LE15901 3x16, PH
1 LE15910 Name tag
2 |LE16502 Spacer 6mm LE16599
2 |LE16599 Sealtite 970 1,5ml LE13100 LE13100
1
1
1
1

TV00015 Taifun




N3102U

N3102

IN
o2}
o
o

EN 1176}

u

=l

N RNA
PLAYGROUNDS G)
designed for sustainable and creative play )

01-06-2023 / Rev.: A



N3102U

N3102

1516

2918

//Maxkg/cm

o
o
N e
N
o
o
™
" " ~
o 0
~— o
Lo o
™D
o
o
w \
N | #19
4497
—
[e0]
[o¢]
e}
45x59x22m ~N/A ~0,11 A @10/12 x 300 cm 27 kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



D12176

Parts List
QTY PART NO DESCRIP.
1 D12174 310/12, Assembled
1 D12175 @10/12, Assembled
1 D12176 @10/12, Assembled
1 S22534 Taifun
2 TV00015 Taifun

N3102U

N3102

TV00015

D12174

.-

D12175



2200

510

300

N3102U

N3102

uon

800

2940

1401

1557

,\\\*#19

1401

1402

2941

2470

2940




N3102U

N3102

D12176

LE16599
LE16502 LE13100
Parts List
QTY PART NO DESCRIP.
1 D12174 @10/12, Assembled
1 D12175 @10/12, Assembled
1 D12176 @10/12, Assembled
10 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
10 LE16502 Spacer 6mm
1 LE16599 Sealtite 970 1,5ml
1 S22534 Taifun
2 TV00015 Taifun

Y D12174
\—/

D12175

TV00015

LE15910




